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General Instructions :

(i)
(i1)

(iii)

(iv)

(v)
(Vi)

(vii)

Please read the instructions carefully.

This question paper consists of 24 questions in two Sections : Section A and
Section B.

Section A has Objective Type Questions, whereas Section B contains Subjective
Type Questions.

Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

All questions of a particular section must be attempted in the correct order.
Section A : Objective Type Questions (30 marks) :

(a) This section has 6 questions.

(b) There is no negative marking.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section B : Subjective Type Questions (30 marks) :

(a) This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

SECTION A
(Objective Type Questions) (30 Marks)

Answer any 4 questions out of the given 6 questions on Employability Skills.  4x/=4

(1) Which of the following is an example of oral communication ?

361/S

(A) Reports

(B) Newspaper

(C) Face-to-face interaction
(D) Notes
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(i)

(iii)

(iv)

)

(vi)

Write the full form of CNG.

What is a Start-up ?

(A)
(B)
©)
(D)

1s used to save the document.

Ctrl + N

Ctrl +P

Ctrl + S

Ctrl+Z

is a software on the computer which helps you to work in

rows and columns.

(A)
(B)
©
(D)

Word
PowerPoint

Spreadsheet

Adobe

“Feeling extremely nervous and worried because you believe that other

people do not like you or are trying to harm you.” What type of personality

disorder is this ?

(A)
(B)
(©)
(D)

Antisocial
Paranoid

Schizoid

Narcissistic
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2. Answer any § out of the given 7 questions. SxI=5
(1) Give an example of slip-on costume.

(i1))  The following is a shoe of exaggerated length worn in Medieval times :
(A) Poulaine (B) Soccus
(C) Solea (D) Carbatina

(i11)  Among the ‘Yoruk Turkis’ nomads, a girl can border her silk head cloth
with coins to signal that :

(A) She is ready for marriage (B) She is betrothed
(C) She wishes to remarry (D) She is married

(iv)  Only free Romans were permitted to wear this garment which could be

draped in various ways to indicate social status :
(A) Kalasaris (B) Toga
(C)  Schenti (D) Antariya

(v)  In the West, the decade called the ‘Roaring Twenties’ characterized by the

‘Flapper style’ enhanced the silhouette.
(A) Flare (B) A-line
(C) Circular (D) Columnar
(vi) is loose, airy and half-sleeved. It is made of large foliage prints

in bright, cheerful coloured cotton fabric.
(A) T-shirt

(B) Oxford button-down shirt

(C) Dress shirt

(D) Hawaiian shirt

(vii)  The French word means ‘off-the-rack.’
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Answer any 6 out of the given 7 questions.

(1)

(i)

(iii)

(iv)

(v)

(vi)
(vii)

The following information should be marked on Block or Sloper :

(A)
(B)
©
(D)

The following is seam allowance to be given on a straight hemline :
1/4” (B)
1// (D)

(A)
©

Undesirable wrinkles on a garment are the result of poor
Balance (B)
Grain (D)

(A)
©

Many ready-to-wear designers have been designated as

Grain line
Seam allowance

Cutting information

Notches

Chamber Syndicale of Paris.

producing merchandise, at unbeatable prices.

(A) America (B)
(C) India (D)
True bias is cut at angle.
(A) 45°

(B) 60°

(©) 90°

(D) 180°

6x1=6

by the

has emerged as a mega production giant, selling and

is a French word used for women’s inner wear.
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4. Answer any § out of the given 6 questions. SxI=5

(1) is the highest point of bust.

(i1) is used for transferring the markings.
(A) Awl
(B)  Notcher
(C)  Tracing wheel
(D)  Tracing paper

(i11))  British fashion is synonymous with traditional styles with impeccable

tailoring as tailoring for men.
(iv) is a narrow, firmly woven strip along the length of the fabric.

(v)  Whatever direction the grain line is drawn on the pattern, it will always be
placed to the selvedge of the fabric.

(vi)  Name the common choice of fabric for interlining.

5. Answer any § out of the given 6 questions. SxI=5

(1) A tailor used the measuring tape on a dress form, starting from shoulder
intersection over the bent elbow to wrist. Which part of the body is being

measured here by the tailor ?
(A)  Cap height

(B)  Sleeve width

(C)  Sleeve length

(D)  Bicep circumference
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(11))  The Englishman considered as the father of modern fashion design is :
(A) Saint Laurent
(B) Charles Frederick
(C) Rose Bertram
(D) Donna Karan

(ii1))  While selecting a garment for infants, the important considerations are

weight, age and

(iv)  The Mini skirt was introduced by fashion designer

(v)  Interlining is added in between the and of the

garment.

(vi) cotton is a common example of wrinkle-resistant finish

without the application of chemicals.

6. Answer any § out of the given 6 questions. SxI=5
(1) Which material is commonly used for test fit ?
(11) 1s used for finishing the raw edge of fabric.

(A) Seam ripper
(B) Scissors
(C) Pinking shears
(D) Awl
(111) makes the garment look opaque.

(A) Interlining
(B) Lining
(C) Interfacing
(D) All of the above
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(iv) is a term given to a basic set of pattern pieces used to make

additional pattern of any style.
(V) is the fastest method for cutting a fabric.

(vi)  Clothing size for shorter, slender women is :

(A) Missy
(B) Petite
(C)  Junior
(D) Medium

SECTION B
(Subjective Type Questions) (30 3ih)

Answer any 3 questions out of the given 5 questions on Employability Skills. Answer each

question in 20 — 30 words : 3x2=6

7. List any four parameters that describe an individual’s personality.

8. What are the key environmental barriers an entrepreneur may face while running a
business ?

9. Write any two advantages of spreadsheets.

10.  What are the attributes of an active listener ?

11.  How does planting a tree help in sustaining environment ?
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Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6

12.  Explain the draping styles of the Greek costume ‘Himation’.

13. What alteration should we do in the basic bodice if it is a sleeveless bodice ?

14. Write down two considerations one should keep in mind while selecting

interfacing.

15.  Describe the following terms :
(a) Cargo pants

(b) Baggy trousers

16.  What is a placket and why are plackets made of more than one layer ?

Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6
17.  Explain the three methods used for marking on the fabric.

18.  British fashion is known for its conventional creativity and expression of

individuality. Explain London as a fashion capital with its specialities.

19.  Which points will you keep in mind while constructing a neckline ?

Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12

20.  Which points should one keep in mind while selecting type and length of placket ?

Explain how one should do button placement for plackets.

21. Name two methods of dart manipulation and explain the method of manipulating

shoulder dart to side seam intersection dart with neat and labelled diagrams.
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22. How will you evaluate fit of the following ?

(a) Sleeves

(b)  Armscye

23.  Explain the factors that should be kept in mind for selection of clothing for

infants.

24.  This decade was the beginning of street wear bubbling up to fashion. Explain the

aura and allure of ‘1960s’ in context of evolution of Indian fashion.
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